MOTOR : GRUPO EMBRAGUE PRI MARI O

GRUPO EMBRAGUE PRIMARIO

Rating: Not Rated Yet
Price:

Variant price modifier:
Base price with tax:
Price with discount:
Salesprice with discount:
Sales price:

Sales price without tax:

Discount:

Tax amount:

Ask a question about this product

Description
Ref. Titulo
1 CARTER LADO EMBRAGUE
2 BUJE GUIA
3 CARTER LADO VOLANTE
4 TAPON DESAGOTE M14X1,25X12
5 ARANDELA
6 O-RING 9X19
7 FIELTRO DE GAZA
8 ARANDELA 5,2X12X1
9 O-RING COVERTOR 81,5X2,4
10 COVERTOR
11 TUBO DE ENTRADA
12 ARANDELA DE ALUMINIO 8,2x14,5x2
13 TORNILLO
14 BANDA
15 TUBO
16 EJE DE EMBRAGUE
17 BRAZO DE EMBRAGUE

81-11111
81-11118/172FMM
81-11210
81-11212/172FMM
81-11213/172FMM
81-14427/172FMM
81-15450/172FMM
81-15459/172FMM
81-15462/172FMM
81-15463/172FMM
81-19650
81-19671/172FMM
81-19672/172FMM
81-20140/156FMI-2
81-20152/156FMI-2
81-22811/172FMM
81-22812/172FMM

Codigo

1/


https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo embrague 22.png

MOTOR : GRUPO EMBRAGUE PRI MARI O

18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36

Ref.

Titulo
SOPORTE CABLE
ARANDELA 14,0X21,8X1
REGULADOR
RETEN DE ACEITE 12X22X9
PERNO
RESORTE
CABLE SELECTORA
O-RING 25,8 X2,4
INDICADOR DE MARCHA
RESORTE 3,5X12,5X05
TORNILLO M 5X10
TORNILLO M 5X10
TORNILLO M6X15
TORNILLO M6X15
TORNILLO M6X15
TORNILLO M6X15
TORNILLO M6X15
TORNILLO M6X15
BRAZO DE EMBRAGUE ARMADO

81-22813/172FMM
81-22816/172FMM
81-22817
81-24190/172FMM
81-24216/172FMM
81-24217/172FMM
81-35730/172FMM
81-35736/172FMM
81-35761/172FMM
81-35762/172FMM
81-GB/T5783
81-GB/T5783
81-GB/T16674.1
81-GB/T16674.1
81-GB/T16674.1
81-GB/T16674.1
81-GB/T16674.1
81-GB/T16674.1
81-22801

Cédigo

2/


http://www.tcpdf.org

